w-1A ejfAfd

Risddl : ¥dllsid =f]. Ulasi
1AM - ol HrddlaR sicalds al
EIdIR RUS, YolIdI3. Hi. C¥YY 131

% Vg ARV Vidl AlE AfA :

*  AAdEHI [Cigell Widld  EAldUl URUR  dol
A1H121ell ¥isell 32 uS 8.

*  X-22 Vd Y- YRR ol A1HI2d] 8.

o X-ui21¥l si¢ [Cigall icRal y-AlH 58 8.

o y-u2i¥l sig [Rigall icRal X-2l 58 8.

*  X-2 Rl slguel (Cigal 2414 (X,0) 43U did
y-121 uell slguel (Cigal a1 (0, y) 434 &l
8. Gaaligall 214 (0,0) 8.

o A1 efAfdell HBIdI &’sId 8.

©  awryal ¢ [Gigl P (X1, Y1) 2d Q (X2, ¥2)
43g didR PQ oflAail 4218l Hai.

PQ=(X, = X,f + (¥, - Y] (vicreager)
e feig P (X, y) o Gaafeig 0 (0,0) &l idR

OP=+/X2+Y? g,

o idR &Rl gl gldiEl ANEl A Hol Ydf3y:
o dgy.

* o AB + BC > AC, dl A, B 1d C 22133u
RCigi 8.

e o AB + BC = AC di A, B 21d C 433u
[Cig21l 8 214l [Gig B i [Cig2il A dial C ofl 423
e,

* <9 AABCai
(1) =213a oy 2is3u (AB = BC = CA) di,

AABC 3011y Pisier 8.

(2) sig o oy As3u (AB = BC # CA) di,
AABC @ailsieiy Pisier 8.

(3) %1 AB # BC # CA dl AABC w3y
Pisier 8.

(4) AABC ai <1 OB = 90° AB*+BC*=AC?
41 dl AABC siesiel Bisiel 8 21ad AC
sel 8.

(5) AB = BC s AB? + BC? = AC?, d
AABC 4 2alseyy siesier Pisiel sg 8.

< ugesiel ABCD ai %

(1) urRa oy AHIe el [Asef As3u, dl d
URA 8.

(2) urRa oy AHId el [sel urRuR sievel

E0I3l dl, d AHcy Rugrsier 8.

(3) 23 AAdl ciigall HIY A1 id [Aseil
As3V &l dl, d doldl? 8.

(4) 2% AAdl cligall HIY A1 id [Aseil

EGI3 dl, d AHidR o1y UGLsiel &1,

% Ruivis AB qf [ig P siRiI did:[eiiva :

A P B
ANd Wivis AB uR A 21d B Ridiug sig

Rig P &la, il Rig P31 AB indzseﬂ%

qeiiTRHi id:[AciIvel 52 & dH s8UIR.

o [eiva 2t 2 [Rig2il A (X1, Y1) 219 B (X2, Y2)
al ¥isdl viIvise] My : My JeilTRAi id:[Aeiivel
sdi [Gig P (X, y) ol 213

(mxz +mx my,+ rwle vt i

m+m, om+m,
o 1 Y2t [Qenvel i 8.
J—m - =M |
A (X1, Y1) P (X, y) B (x2, y2)
o HeAlSlg Yo : uilvisq HeAlRg IJuivise] 101

sqeitRHi fQeiva s 8 Hi2, A (X1, Y1) 2id
B (X2, Y2) ol ¥isdI uiivisell Helig
Potl 213 = (X1+X2 : y1+y2j
2 2
o DPislelg HerSog : Pisieiell 21E1a HedA1la
A0y [Gig (Rionl glaidll)al Pisielg seuSog
sgdil. AABC o1 RRRIg2 A (X1, Ya),
B (X2, Y2) d1d C (X3, Y3) &, dl d Pisleie
HEABog
G ofl A = [><1+><2+xe,yl+yz+ysj
3 3
o [isiel HeuSeq A Pisieiddl  cliygdlal
HeAlCigilal Msaid]l sadi Bislelg uel seASog
Y.
o DBislelel Asigng Yol : AABC ol RIRICigi
A (X1, Y1), B (X2, ¥2), € (X3, y3) &la di

1
ABC= [xa (y¥3) + Xz (YY) + X5 (ya-Y2)]

* 9 AABC al #oisng e O (o) Hdi, dl
[Cig2il A, B 2idl C 2443 gla.

* AN UGrsielg Foign = % (R1¥idR eliyilel

A1) X (daell 4 Aq] vidr)
< didrytell GuaE] deiad] s,




Ex. 1 Rigil A (2, 3) sid B (-3, -9) uRqf 2id?
e,
A (X1, Y1) B (X2, ¥2)
=A (23 =(-3,-9)
AB?= (X1-X2)” + (Y1-Y2)?
= (2(-3))* + (3-(-9))*
=(2+3)°+(3+9)°
=5+ 12 =25+144 =169
0 AB=130 Ans
EX. 1 ofl f1d didRyatell Guailagfl s121d?] s2l.
(1) feig A (2, 3) 2idl B (4, 1) d=’lqf 2id? M.
(2) feig P (-5, 7) 210 Q (-1, 3) u=rof id M.
(3) feigil (O, 0) 14l (36, 15) uAg] didR 2ildl.
(4) feig x (a,b) 21d y (-a, -b) d=Rqj vidr 2.
(5) M P (2, -3) 2161 Q (10, y) u=’qf didr 10 isH
g, di y ol (Bad 2.
(6) M P (3, 2 »d Q (7, K) 2l [Cigil 8.
«“ad(p,g) =5di K 2isl.
(7) 9 A (X, -1) 21d B (3, 2) u423q 2idz 5 isa
&l dl X 2iidl.
(8) feig P (X, Y) o Garaleigel idr 2iidl.
o ANdl [Gig2ie] Aaiiel idR A1dd SIY 242 U]
[Gig 2Maq.
Ex. 2 Rigil A (6, 5) 2id B (-4, 3) ¥l 231a ic?
1dd &l dg Y-2121 U [Cig 2Mel.
arRls P (0, y) 31 Y-u121 ure A (6,5) 14
B (-4, 3) ¥l 2131101 2id? 21dg [Gig 8.
0 AP=BP
O AP = BP?
0 (6-0) + (5y)* = (-4-0)° + (3-y)*
[036+25-10y +y*=16+9- 6y +y°
[J 61- 10y = 25 - 6y
[ 4y = 36
y=9
O y-2i21 urej a9l (Gig P (0, 9) 8. O Ans.
Ex. 2 ofl 91d a1eidd] 8.
(9) A (2, -5) &1a B (-2, 9) ¥l 243101 didR &l dY
X-2121 URqj [Cig M.
(10) X-2121 ug] Aq (Cig 2Mel 8 (-2, 5) 214 (2, -3)
] 2210l idR g,
(11) ¥ Rigl A (4, 3) 4 B (x, 5) 31 0 (2, 3)
Sogdinl dda uRedll [Cigil &1, di X 2.
(12) X-121 uzgq] g [Cig 2Nl 8 ¥ (7,6) 24 (-3,4)
] 2210l idR g,
(13) % Rig (x, y) & g2l A (5, 1) 214 B (1, 5)
] A3lel idR &1 dl Allcd sA S X =y
(14) =9 Q (0, 1) = P (5, -3) 214 R (X, 6) &l Aalai
idR &ld, dl X o e 2Mel. vid2 QR 214 PR
i€,
(15) Rig (X, y) & [Rigil (7, 1) 214 (3, 5)¥] 24310
BidR 8 dl X ddl Y YRell 2Acig exildl.

o [Gigil A3 8 8 aid] A aiss] sRq.
Ex. 3 g2 (1, -1), (5, 2) v (9, 5) 2#33vi 8 dx
Allid s?.
A (1,-1), B (5, 2) 214 C (9, 5)
AB? = (X1 - Xo)* + (Y1 - Y2)°
= (1-5)° + (-1-2)?
= (-4)° +(-3)°
=16+9
=25 0AB=5
BC’ = (5-9)° + (2-5)°

= (-4 + (-3
=16+9
=25
0 BC=5
AC? = (1-9)% + (-1-5)°
= (-8)" + (-6)°
=64 + 36
=100
AC=10
AB+BC=5+5
=10
O AB + BC = AC gqiell A, B 3id C q33u
8. 0 Ans.

Ex. 3 ol 1d a1eia?] s.
(16) Rigail (1,5), (2,3) 14 (-2,-11) A33vi 8 5 &l
d aiss] szl.
(17) 2ufd s 5 P (2,-1), Q (1,-4) =4 R (3,2)
A [Sgl 8.
(18) 2feid sA 8 (-2,5), (0,1) da (2,-3) AHw
[RCigil 8.
(19) idzy21e11 GuAl21¥] cididl 5 A (2, 3), B (4,7)
il (0,-1) v [Cig2l 8.
< Pisieie QR evidiai vlidYalel Ui :
Ex. 4 el 3 P (2,3), Q (2,5) »id R (2++/3 4) 3
Ay Pisiele RiRifCig 8.
P(23), Q (2,5), R (2++/3,4) & AHcy Pislelal
RiRACIg 8.
P(2,3),Q(25),R(2+/3 4)
PQ*=(2-2)° + (3-5)°
=0+4=4
QR?=[2- (2++/3)]* + (5-4)°
=(2-2-4/3)2+ 1
=3+1=4
PR? =[2- (2++/3)]? + (3-4)°
= (2-2-4/3)%+1
=3+1=4
O PQ=0R =PR =2 guaidl A PQR 2nci1y
Pisiel 8.




Ex. 4 ol 14 areN.

(20) feig (3,2), (-2,-3) 4 (2,3) s [Pusie
Glal1dgl? A &l dl AV Pisielel usiR wendl.

(21) usiRil 5 g2 (5,-2), (6,4) 2ia (7,-2) s
Aalsony Pisiele RIRACIg 8.

(220A (52), B (2-2) ud (-2,t) A sieslel
Pisielon RiRIfGg 8. AC sel 8. di t ol [Bad
Mg,

O ugrsiels RRa gvic O
Ex. 5 ealdl 3 A (0, -1), B (6,7), 2(-2,3) 214 D
(8,3) ciciul=Aall RIRAMCIE 8.
A (0-1), B (6,7), (-2,3), D (8,3)
e AB?=(0-6)% + (-1-7)
=(-6)°+ (-8)°
=36 +64
=100
U AB=10
BC’= (es-(-zp2 +(7-3)°
= (6+2)° + (4)°
=8 +16
=64+16=80
BC = /80
CD’ = (-2(-8))° + (3-3)°
=(-10>+0
=100
0 CD =10
AD? = (0-8) + (-1-3)°
=64 + (-4)°
=64+16
=80
AD = /80
* AC’=(0-(-2))°+ (-1-3)°
= (2" +(-4°
=4+16=80
BC =20
« BD?=(6-8))* + (7-3)°
=(-2°+ @’
=4+16=80
BD = +/20
218l A1Av1360 Gy 2310 8. AB = CD, BC = AD
day f[Aseil #3104 8. AC=BD
OA,B,C,D 2 deiuidi RIRICIg 8.
EX. 5 ofl {1d arei.
(23) el 3 P (2-1), Q (34), R (-2,3) =4
S (-3, -2) 2 2AHci1y ugrsielell RIRACIgi0 8.
(24) g2 (1,7), (4,2), (-1,-1) a0 (-4,4) 3 s
Ul RIRICIEI 8 d exuldl.

(25) (4,5), (7,6), (4,3) w4 (1,2) Rigil sIRl I
Udesielell UsIR wendl e dg SRRl el
cididl.

EX. 6 fGig2il (4,-3) 314 (8,5) 2ia B (8,5) & ¥isdl

Ruilvisg] 3:1 dqeidRai id:[Aciive sdi [Cigell A1

M.

aRris P (X,y) 2 A (4,-3) d ¥sdi 3vilvisg]
3:1 opeiRai vid:[Qeive s 8.
P(x,v) {mlwmle my, +rwyl}
m+m m+m

3(8) +1(4) 3(5) +1(—3)}

| 3+1 7 3+1

[24+4 15—3}

. 4 4

28 12}

[ 474

=P(xy)=(7,3) 0 Ans.

EX.6 ofl 91d areflA.

(26) Rigail (-1,7) 2al (4,-3) o Yisdl vilvisq 2:3
ez [Aei¥e sdi [Cigal Al A,

(27) &g (-4,6)1 fGig2il A (-6,10) 214 B (3,-8) 4
“isdl ilvisq sl JJeila3i [Aeiive s 872
(28) Rigall A (2,-2) 2iel B (-7,4) & o1 is3u

eidilai ([Aeilvel sdl [Cigilall A1 QMel.

(29) X-u121 Rigail A (1,-5) »1d B (-4,5) d sdi
Rmilvisq] sl deiltRAi [Aeve s 8 d 2ildl.
QeI (Cigell 2134 yel 2Nel.

(30) ¥ Rwiivisell iculCigil A (3,-2) 1a B (-1,4)
&l dl d RwiIvisell HeARIg 1 2Nel.

(B ¥ Rigl A (6,1), B (82), C (94) =4
D (P,3) 3 1% sHai AdidR olly Ugsielel
RIRARigl gla dl P 2iie.

(32) Gy ugesieiel sfs RRICg  (3,0),
(4,5), (-1,4) a (-2,-1) &la dl dg sy
i,

(33)v (1,2), (4y), (X,6) 24 (35 3 s
AAidReIy Ursielal sfAs RIRICIZ2 &la dl
X il y 2ilel.

(34) A (-1y) 214 B (5,7) 3l ada ureil [Rigil 8.
A adng Seg O (2,-3y) &l dl Y o Baa a
adadl Biea 2.

O Pasieig] Ao1ga 2ial uaivi Cigi [
EX. 7 a1 RRARIEA (1,-1), (-4,6) 24 (-3,-5) &l
dai Pisielq daisa 2.
A (1,-1), B (-4,6) »a C (-3, -5) A AABC il
RIRICIg 8.

ABC = %[xl(y2 —Va) + %(¥s = V) + Xe(Y, — V)]

3




= %[1(6- (=5)) + (-4)(-5-(-D) +(-3)((-1) - 6)]
= %[1(6+ 5) - 4(-5+1)) + -3(-1-6)|
= %[11+16+ 21

:%X48 = 24 sy’

EX. 7 ofl 914 212149] sd1A.

(35) (-5, -1), (3-5) =»d (52) RRIRigdIN
Pisielg g A,

(36) Gigail A (2,3), B (4,K) 214 C (6,-3) 2a3vi
8l, di K 2l

(37) 2ule1d s 8, (a,b+c), (b, ct+a), (c, atb) AeRw
RCigi 8.

(38) A (x,y), B (1,2) 14 C (2,1) 8. 91 AABC ¢f
Asisn 6 Asw® §lA, dl AIfd sA § x+y=15
Yyl X+y=9

(39)+ A (-3,2), B (54), C (7,-6) »id D (-5,-4)
ugesiel ABCD o RRIRIg2  &la  dl
udrsielg A2ign el

(40) A (3,1), B (1,-1) 1@ C (11,4) 21idvi Rigail
gla, di agiisl.

(41) Rigail (7,-2), (5,1) 214 (3,K) =#33ui [Cigil
8l, di K 2l

(42) s ugrsiela sMis RRICIg (-4,-2), (-3,-5),
(2,3) &, di dgj Aaisa M.

O sgigiell Ervid [

(1) adwne curig s iculeig (0,0) 1d adang
Sog (-1,2) &ld dl carRiq] ofly iculeig 2Mel.

(2) A (X3,y1) @ B (X2,y2) o sdl wviivise
A dzsell m:n deiiuRAi [@Qeiva sl [Cigetl
1A dvil.

(3) A (0@ »4d B (0b) gla, di 21 & [Cigil
9Rq] vidz AB 2iidl.

(4) A (0,0), B (3,0) 161 C (3,4) 2 s uSIRal
Pisielell RiR1Cig20 872

(5) A (xy) o Gaafeig O (0,0) Ul zidR dvil.

(6) ¥ A (X,2), B (-3,-4) 21d C (7,-5) a3 [Cig
gla, di X 2Msil.

(7) 1P (24),Q(0,3), R(3,6) 1a S(5,y) AaticR
ol Agrsielal RRICIE glu dl y Mdl.

(8) A (4,9), B (2,3) =4 C (6,5) = Pisiei ABC
ol RRICIg &la dl C aidl &d acadlidd] dong
i,

(9) X-u121 Wil [Cigotl A1 2Mell 3 ¥ (-1, 0) il
(5,0) &l 213101 id 211dg &la.

(10) v1s adnail Sogell 1 (-2,5) &la dul s
ddanel carRig s icAulCigal a1 (2,3) 8. dl
d cAriell oflM icAulCigell 13 2Mel.

(11) A (1,3) 14 B (4,6) o ¥sdi uiivis AB ¢f 2:1
qeiizRHi [AeiIvel sdl [Cigal 1 A,

(12) O (0,0) 14 P (-8,0) &l dl dotl seAulCiga 21
M.

(13)A (-2-1) »d B (3, -6) & isal AB o
A dzs®ll 3:2 oeiinRai [Aeive sdi [Cigell A1
M.

(14) Rig (-2, -3) &l Y -121qf ciciid? M€,

(15) Rig P (2, 3) o X-2iqf ciciid? M.

(16) % A (1,2), B (4,3) »1d C (6,6) i A3idR oIy
ugrsielel RIRACIgA ela di ulen [Rilkg D
oll A1 A€l

(17) 9 Riga P (2,p) A A (6,-5) 214 B (-2,11) &
sdl vilvisq HeAlGIg &l dl p Al

(18) M Rigal P (2,6) A A (6,5) =1a B (4,y) o
sdl ilvisq HeAGIE &l dl Y 2Adl.

(19) <A feigil A (SinB - cosh, 0) ia
B (0, SinB + cosB) 4z id 2Mil.

(20) ¥ (4, K) d14a (1,0) u=’lef didR 5 sy &la dl
K 2iidl.

(21) 1 (3,0) =161 (0,y) d=Rof 2idz 5 2isH &l did
Y 9ol &1, dl y M.

(22) g0 A (c, 0) 2161 B (0, -C) d=qf idr 2iidl.

(23) ¥ (3,8) 21 2x-3y-5=0 uz 211dd &la dl agiidl.

U «@dio [

(1) V8 ziaa1 22 (2) 4J2 (3) 39

(4) 2Ja?+b? (5)33-9(6)-135(7) 73 -1
(8) /X*+Yy* (9) -7 (10) (-2, 0) (11) 2 (12) (3,0)
(13) x =y (14) x=4, QR = /41, PR=9+/2

(15) x-y=2 (16) [Cigil un3vi ci¥fl.

(20) siesiel Pisiel 8. (22) t=1

(25) =1A1A60l cliggell HIY 2Ruil 8. [Aseilell HIY
el 8. AAidR oIy Ugesiel Asy 8. (26) (1,3)
(27) 2.7 (28) (-1.0) (-42) (29) 1:1, (~34.0)
(30) (1,1) (31) p=7 (32) 24 Asu? (33) x=6, y=3
(34) y=-1 ) Brovai = 5,y = 7 il Brovair = /793
(35) 32 Asu? (36) K=0 (37) 85 Asa” (40) a=5
(41) K=4 (42) 28 AAs%’

(1) (-2,4) (2) (”‘X ML R ”ylj (3) [acb]
m-+n m+n

(4) sizsier (5) /X2 +y? (6) 7 (7) 7 (8) ~/10 AAsa
(13) (0.-3) (14) 2 (15) 3(16) (3,5)

(17) 3(18) 7(19) V2 (20) +4 (21) + 4
(22) V2 C (23) %




